o i O AL RIE

EDUCATION

B FFEMRIR

2021 FHNERHKF LA (1)

FRE: 35-40min

kAR ARESL, HF. WiE, #EREH;

BEoRk. REMERE, #HTE, K0, —BAEEREM, BEFERX, BEHEIEEIX, HEIO
1., ©0%, LA0B=120° , AB=M[3, & CHIM ABL—5H 5 (F5 A BEA), N CA+CBH
RAMEA ( )

A 843 B 6 ¢ 1243 D 8

AN\
ey

2. —HEERA L, 2, 3, 4, 5, 6, T, TR AT, L%k (W, 4,8, 9%) £,
BE—HFHT, WHFHT| FE 60 NEfl ( )
4. 2310 B 2246 C 2231 D. 2020

3. 2K y=—xFbxtc(b.c hEH), x5 y W xR EwE: 4 n>0, n<0 B, T7 4k
Ob=2; QyFHEAMEHN5; @Y x<1 W, yH x AT A; On<x<n+1l, yERAME3, N
n=—\/§. Hep— 2 FHE

0 1—m 1+m
4 0 0

4., NABCH, LACB=90° , AC=BC, B P ANABCHh— &, H LAPC=45° , i BAE BE/ AC
SEIZE PA. PCT & E. F, & BE=3EF=3, | AF=

—445% - H 31033 1



2021 HEEH=F m

5., B2, 0O, B, 3), ALZENERAMNSE L HHEREA.

(1) ¥&B ABG R A Et4t S 90° F AN, N M 2B BT A s B RE ABS S BIR
HH4F A 90° E BN, U N A ALAT ;

(2) AN LR A E, £ BNER A F, ERER UINFE R E RN 3;

i ME _3
(3) EANEREC, &£ R

AY

i Rl i A e e e |

6. W, ABNOQOWER, AD. BCHOOM W A%, DC5O0T A L
(1) # AD=1, BC=4, X (DHE;
2 E)WEHT, F OEX BDT ME, K Drwyk.

2 — 4455 - AFHR



" s OP AL RIE

EDUCATION

s wEtue

NERBF ORI (1) BR

FRE: 35-40min

kAR ARESL, HF. WiE, #EREH;

Eok: WEMEE, $HITE, KO, —FEEMEM, BHEERX, FHEIREIXK, BL£YO
1., ©0%, LA0B=120° , AB=M[3, & CHIM ABL—5H 5 (F5 A BEA), N CA+CBH
RAMEA ( )

A 843 B 6 ¢ 1243 D 8

o\
N

LAY MBS AABD Fa s i ABCE, W& A, €. E = E3%, AABEL2ADBC(SAS), CA+(B=AE=
D, 4 CDAHERB®RA, WREAMENA 8.
2. ¥ —HIEFEHKD 1, 2, 3, 4, 5, 6, 7, === FH AT A, LA (W, 4, 8, 9%) £,
BE|—H s, NFETHF| Frr 60 MkeiFrl ( )

A. 2310 B 2246 ¢ 2231 D. 2020
LAY G4 7 70 M0F, RABREEFFEH 104, T 1. 4. 8. 9. 16, 25,
27. 36. 49, 64, X 10 Mufnh 239, #ATKE 60 Mayfi=(1+2+3+--+70) —239=2485—
239=2246
3. 2B y=—xX+bxtc(b. c HER), x5 y o N EwR: B n>0, n<0 B, T7| 4
Ob=2; Qi AEN5; Of x<1 B, yf x AT A; On<x<nt+1, yH&RAME3, N
n=—\2. HE¥—gEHHKE

0 1—m 1+m
0 0

[E%]) s mdhmy x=1, ..b=2, HOM;

HMEI4 c=4, J.y=—x+2x+4, HRAEH 5, HO;

FoummT, dHEh x=1, KOx;

Tn<0, Soa<x<nt+1 EXHELME, Y% x=nt+1 8, BERAME, KA y=—xX+2x+4, &
— (1) +2(n+1) +4=3, Bl i=2, ~.n=—[2. #HDx.

4. W, NABCH, ZACB=90° , AC=BC, & P HNABCH— &, H LAPC=45° , i BAE BE/ AC
AR PA. PCT A E. F, & BE=3EF=3, N| AF=

-\
[ E%]) EFF=1, BE=3, BF=2. ¥ AC=BC=a. it A1E ADLBET D, 1E CCLAPZ AD T G, %1 AG
=DF=a—3, J.D6G=BF=3. B¥AEMN, T & FG=AG+BF= a—3+2=a—1. & Rt/\FDG+F, 5:

DR+DP=FR, .3+ (a—2)2=(a—1)?, ##1F a=6, ..DE=3, AD=6, F o4k EEE AF=3[5.

—44%F - A F 0B




— 2021 HEHF % :.

5., B2, 0O, B, 3), ALZENERAMNSE L HHEREA.
(1) ¥&B ABG R A Et4t S 90° F AN, N M 2B BT A s BEREABZE BN
HH4F A 90° E BN, U N A ALAT ;
(2) AN LR A E, £ BNER A F, ERER UINFE R E RN 3;
ME 3

= ==
(3) E AN L& C ME -1

[E%)Y (D wE, n—1, —1), M—2, 2);
(2) g O, —1D. (=1, 2)WEEEL, 28K AN BVT E. FF &
(3) ®HEUA, —D. (0, 2FEMEEL, 24K AL, BNF . DFE, WOIABDC ER A 4, #
Bl AC=3 : 4.
6., ABHOOWMER, AD. BCHOOWMFHFZ V%, DCEQO0T A E
(1) # AD=1, BCc=4, & Ok,
(2) EWWEAMET, £ 0EX BT NE, Kk k.

[ £%]) (1) Ch=CE+ DE= BC+ AD=5.
(2) WmEKEE OF, 282 HE% AD. BCT 6. H, i DVE DFLBCT F, W BF=AD=1, CF=3,
B R EESE DF=4=AB, szx/ﬁ, 0A=0B=2.% BH=x, OH=y, ®E/AHBO-HEC, &: HB: HE=

8
OB CE, B x: (y+2)=2:4, J.y=2x—2. I RtAOBH®*, 2+ =y, Bisr, #7153 x=7. SAG

8 5 .BM BH 8 . 5 5
=BH=3, DG=AG—AD=y. o=pe=m. LOH=AD=n\1T.

4 —44% - A F R



